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What is a Desert? g&

A desert is the driest land in the world. The
land is mostly sand and the air is very dry. In the
desert, only a few' centimeters of rain fall each
year. And most of it falls on just a few days.
There can be months with no rain at all.

The desert is a harsh land for plants. The
soil does not have much water. It doesn't have
enough nutrients’, either. A cactus is one of the
plants that can survive® in the desert. It has long
thin roots. And they can reach’ water deep inside

In the desert, there are big differences in
temperature® between day and night. Heat from
the sun makes the land and air hot during the
day. Then temperatures are very low after the sun
sets.

The desert cannot be a nice habitat® for
animals. Jackrabbits, rattlesnakes, and cactus
wrens are some animals that can survive in
the desert. These animals hunt’ at night when
temperatures are cooler. During the day, they
have to find shady spots® to stay away from the
hot sun.
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Comprehension Checkup

Choose the best answer.

1

What s this story mainly about?
2. the desert and is features

b. why animals like the desert

<. people in the desert

d. animals hunting during the night

What is the soil in the desert mostly made of?
a. mud b. sand c. rocks

Why is the air in the desert dry?
2. There are too many plants.

b. There is sand all around the desert.
. Little rain falls each year.

d. Plants’ roots can easily reach water.

Why do animals in the desert hunt at night?
2. The temperatures are cooler at night.

b. Heat from the sun makes the land and air hot during the night.

. They can easily find water at night.
4. Only several centimeters of rain fall each year.

Which is true about plants in the desert?
a. They do not need water.

b. They do not need nutrients.

. Cactus have long thin roots.

d. Cactus cannot survive in the desert.

There are big differences in between day and night.

2. temperature b.rain <. plants

A
Vocabulary Focus

) Match the words with their correct definitions.

substance that helps plants and animals

1 nutient - <
to grow
2 afew . * b toanive somewhere
3 temperature - - ¢ tostayalve
three or four or a small number of
4 reach . < d
persons or things
5 spot . + e ameasure of how hot or cold itis
a smll area of surface that is different
6 suvive - - f

from the area

B Choose the correct words to fillin the blanks.

afew temperature  habital survive nutrients  hunt

In the southern part of my country, eters of rain falls

each year.

2 There are drastic differences in between summer and
winter.

3 The rain forest s the best for wild animals.

4 The soil has many for plants to grow.

5 Most desert animals at night

6 Onlya few plants can in the desert.
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Grammar Focus Organize & Summary

) Check the correct sentences. oL i the story.

1 a. The climate in the desert is very dry.
b. The climate in the desert are very dry.

2 a. Heat from the sun make the air hot during the day. Detail Detail
3 a. The animals hunt at night when temperatures are cooler.
b. The animals hunts at night when temperatures are cooler.

[EEEZP The desert is the driest land in the world.

Only a few centimeters
of rain fall each year.
And most of it falls on

4 a. The soil does not have much water and many nutrients for plants
to grow.

. Just a few days

. b. The soil do not have much water and many nutrients for plants to

grow.
.
. 5 2. During the day, they has to find shady spots to stay away from the hot

sun.
° b.During the day, they have to find shady spots to stay away from the
A hot sun. @ Fillin th i the story.
.

spols  desert rain  cooler oot cactus

B Choose the correct words to complete the sentences.

The is the driest land in the world. Only a few centimeters
1 Inadesert, only a few centimeters of rain (fall/ fafls ) each year.
of fall each year. And most of it falls on just a few days. A
2 Adesert (is/are) the driest land in the world. can sunvive in the desert. Its long, thin B
3 Jackrabbits and wrens (is /are ) that can survive in reach water deep inside the ground. Animals in the desert hunt at
the desert night because the weather is During the day, they have
4 The plants that do survive in the desert (is / are ) far apart. tofind shady away from the hot sun.
Ks The desert (is / are ) a harsh land for plants. J
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01 what s a Desert?
D Match the words with ther correctdefinitions. 3 Check the correctwords to complte the sentences.
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el sevcugh  brwaivey  c.oxcelen convary . o ol
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a.year b. exotc cnauraly . convary
D Choose the correctwords o il in the blanks. O temperature 0=
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2. AfEfo] EAUR ERE RAUCZ O|R0H JLR?  [b]

3. AfRQ| S7|7} off AZSIIR? [c]

b. Af2}f 2= 0| 227t ASLCE
c. OfE H|7F AQ| LH2|X| eiELch.

d. ME32| H2|7} A 20| 2= 4 AUAsHCL

4. MEhol| A= S22 off ol AtdsiLie? [a]
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1. R2|Ltel gZof o

)hE

MIE|DIE{Qf |7} LHEILICE

[a few]

2. 0iE3 74229 7|2 Zholl= Safet X107t UFLICE

[temperature]
3. TRES opdSS0I 71 E2 MAX LI
[habitat]




4. EJ0il= AlZ0| MEE 4 QU (e
Lic, [nutrients]
5. CHEE Alafof = SES2 2ol AKSEiLct  [hunt]

Of &2 40| AlgBio] AfBolA MZES 4 Qlict
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[survive]

o= 20| EAISIMIL.

1. M9 7S i AXELCE [a]
2. & Sholl= EfE0| S7IE =T DLict [b]
3. SE=2 27t O M8t ol ArRiLICE [a]
4. EY2 MES0| X2tz Ol 328 YR +2ES TIX]
0 UK &L [a]
5. & 30 0|52 =R EHY=RE] Ho{X 7| #fsh 1
S71 HAE Hotof SLict, [b]
(2] Y2 clolE 22t 22 G
1. M2foli= o 2 AIEID|E{2] HITHLZILICE [fall]
2. A2 Mol 7hE ARG ERILICE [is]
3. SOk E72t MRIFZSM=E AN & = U= =
SLICE [are]

4. MM MESHE AEE2 M2 Ha| DM JUELIC
[are]

5. A2 AES0H =5 gyt [is]

Organize & Summary

[ E20iM B2 MEE 01835101 LIS EE 2MBIMIS.
[Detail] Plants in Desert A cactus can survive
in the desert. Its long, thin root can reach water
deep inside the ground.

[Detail] Animals in Desert Animals in the
desert hunt at night because the weather is
cooler. During the day, they have to find shady
spots away from the hot sun.
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desert A} rain H| cactus MQIZEH root #g2|
cooler o M58t spots &, XIH
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AMEISHA | ocean HiC ChY steam flow 57| R2H&S) evaporation Z2 condensation 8Z transport
24, 0I5 clouds and water vapor 721 £37| rain and snow =1} H| infiltration &E, &4

transpiration S4t (258)

Comprehension Checkup 6. 2ol =82 HEBLIC

a. 0 HICHO| B8 ASER
7hE T2 e 2N b. 0§ HiCte| HIZS AZSE
. 222 FE 290f 2t 227127 [b] c. 0 HiCte| A== HIER
a. AFZHS0| 20| 2R3 0|2 d. i HITH| AFES HeE
b. 29| &8t
c. ARS0| 25 M8st= ¢ Vocabulary Focus
d. AS0| HITHS O 0l&sk=7t
Z} Chojof| 252 olojE Stot HESIMIR.
EH0] 22 7IZAI7|H R& Lo| LOLILIR? [d]
= 1.d 2.b 3.2 4.c B.c 6.
a. 20| 2oiZUCk b. 20| ZEHHZLICE
c. 20| XIY-LCE,  d. 20| 5l=2 SYELIC U2 TIE St HIZIS M.
. HIL} £2 2902 BIENRILIR? [a] ==/ SEoltt/ 371/ o BoRICH/ SZ=ICt / Crls]
a. 8o b. el =d 1. 37139 457/ of M2 Sys= SEgUC,
X|Ftel 2H d. Ef2f

2. Cfls|e, f2= S0l sl 4Ee 227t gttt

a. B¢ b. 342 [Fortunately]
c. 48 d. AZ= 3. =2 EfY0| B2 JtolH SLFILICL.  [evaporates]
. 20| B3I £57 7t ELict, [water vapor]

- Ol HI= OIE2 CHA 2OIRILR? [a] 5. 29| #3 Hj20] L2l= Hrf 20| LK %S R
a. Hick2 b. =22 c} [run out]

c.ol==2 d.Hl2

[condenses]



6. M2 22 37| 82 +57|2FE USOHFLCE

[droplets]

[ = 23l ZAGIMIS.

1. J2iLt X170 U= 29 97% 0|42 AZE(HIRE)YL
ct. [a]

2. S g7t TZEX| 2427 20| FLR? [b]
OIZA} Gl ZHHIZE2 whether 42

3. &7| B9 £371= Y20 O X2 2R S5E
Lick [a]

4. 2 SHEE0| 20 750 FLIch [a]

Z0{ Bunch (of) ol es 20{M 240|22 droplete}
collect E4 e M

5. 22| URE UG 37| S22 ==ofguct.  [b]

2. M2l 29| 3%0| Fut 2+2HE L= HeYLI,

[is]

[heats]
4. =2 340 oM of ZUSILIR? [evaporate]
5. 0]z WAloz 29| 2310| 0iY HiCte| AF=EE He2

HRELICE, [changes]

Organize & Summary

[ E20iM B2 MEE 01835101 LIS EE 2MBIMIS.

[Body] The hot sun shines down on the water in
the oceans. When the sun heats up the water, it
evaporates into the sky. Water vapor in the air
cools and condenses into tiny droplets. Bunches
of tiny droplets collect into clouds. The water
from the clouds falls back to the Earth’s surface.

We call it rain or snow.

[E¢] 22 = 8oz U0l dFUCE
[EE] =742 EfjY0| HiTtel = ¢I= LH2|ELICE Bol 22

=2 512, B2 3152 SLsPH BUCt 37| 50 45|
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water cycle 22| &8t evaporates ZEsICt

droplets 242 clouds 75 rain H|
changes H3IA|7|Ct
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Comprehension Checkup 8. T ARAOLE [o]
a. QRIS HEE 4 LIt
J1xt etare Bte nEMe b. Q7+ Totgs = UEHCH
222 X2 990 23t 2eie? [a] - 2l 27 JOIR .= RiaLnt
a. 2a|A|0|E|e] Ho| d. 17t 8l A = JUELICEH
7{Cto| HIHES Z0fst= 0|2
b. SZACIZION BN fat= Ol 6. Y2PA0IElt ARCIAUS 2OiTt BHS 30t FILIR?
c. ARFICIUT B2AOIEIRL B A 4 Q= e [l
. FCrn}t 22| AH|0|E{C H _
d. 227{CiUt A2 A0IE] ROl a. 2521 27 SI0{0} BLIEH
BeIA0IElS S 5 SiLts RARVIR? [c] b. (12 55 SASRRE 252 LS60F e
cpiS S0 ALt c. 25017 7|5 BXIFH0F BILICK

A

a

b. WE3t Z=0|7} QALICH d. IS0 Ha| X A0{of FLCt
c o

d

. SUEHR|Q} HHRE HALICE Vocabulary Focus

a. ¥k b. ZR5%
SR T 1 2.c 3.2 4.b 5.1 6
c.7l2% d. i 5F7
otate = = %
. 327icilel £33 siLis PoetR? ] HAS Hoif St Hns Kitae.
a. 328 FS07} UAGLC, 055 / AtiHoz / mARt / BSsic / Q12+ / BUiCt
b. Altjxoz 20| ofpict )
c. HIHZ0|A A= Z4S ZofsiLc}, 1. Y2|A0|E= I=7CIULCE HTiXO 2 O 2Lt
d. &7 S|t [relatively]

2. HEA0jEet = UR IIERE 2RE 4 &L,




[reptiles]

3. OS2 YKol =S=S8 LFE IS AAZ Hed
2 0lA1 |0} [protect]
o7

4. QIZt2 HiTE FE2HCIU| HE £ JUELICH
[human being]
5. W2|A0[E= AR HREES S50A E-LICE

[spends]
6. J=27{CtUnt H2|A0|El= SoH7|R0IA AAlets A
RALICY, [predators]

o= 280l BEAIBIML.
1. OS2 WEA 23 + A=S 71 127t AFUC [a]

tals FHF= SBAIE to SHAL M. FXIAf for F

hely

Oll= swimming
2, JE9| 282 AZFCIULCt MTHXOZ o oFst|Ct,

[b]
weak| Hlu g2 Fol —er 22
3. 12|11 59| = WeIA0|HS Tt 52 Zof g 8
EBiLc [a]
4. 152 27|0l| HI%sHX|2H M2 CHELICE [a]

but ol they7} Matsioiom o %0f Theyol Ux|
BH= =4 St are 49

5. OS2 ¥2|H0/E20t o 30 of =, [b]

Aol 7Ky AR TERY

LIEk [the most fearsome]

2. OS2 340N O5 AAZRE H55P| ofst 28256t

HAE CHEfst O|2E 7|-I| Q&L|Ct, [to protect]

3. 0| Holh M= DIES Z0kIH A2F{CIUECH O

O{F2AMO| IRE 7R Q&L [Thesel

4. 52 42 A SE0[2t0 dZE 4 AELICE [think]
5. FZACIU2 H2|AOIHECE O 2ot AIEELICE

[angrier]

Organize & Summary

ESZ0/M Hi2 YEE 0I8510] LIS EE 2MdsIML.
[Differences] Crocodiles They prefer salt
water. They are bigger but slower than alligators.
Their teeth hang outside their mouths. They are
angrier and meaner than alligators.

(4123t =] AeAolelt A27ACUS M 4T 4 9=
£ 71 m2p7} QUL (2 $82) 32ozvE BEsiES
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o7 S0 2L H2|AH(0Ele| 282 Eii?ilif%'oﬂ
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B0 2 BIZES 7HS 2E2S QofsiMIR.

tropical el faster O WE weaker o st
slower M =2l outside HFZO| meaner G ALLL2

LA OBt =AU 2710 HIXSHKIZE M2 T
AZ7{CYn} H2|HOElE WEA +EY 4 U=S
7t QELICE IR0t H2|A B = (CE S22
ZHE AARE HSSIEE SSESE TIFE 7KL U5
L. IZ=7CHnt H2|AO|Ef= SrH7 |S0IA MAIRILICE ¢
AOIE= 0=t SZ0IAM MARILICE H2|A0lEl= =70t
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TFE YS2 ©E 1EMR. c. 7k201 0| 51 Hofl HoiXl=
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Organize & Summary

[ E20IM ti2 HE2E 025101 LIS S 25,
[Details] Temperate Forests They cover
climates that have four seasons. The trees are
deciduous. Foxes, bears, deer, raccoons, and
birds can be found in these forests.

[Details] Tropical Forests Tropical forests are
found near the equator. These areas are hot and
humid and get a lot of rainfall. Exotic flowers and
most medicinal plants are found in rainforests.
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Organize & Summary

Z2Z0M B2 HEE 0|2510] CZ £E 2MISIMIR.
[Life Cycle] An insect lays eggs. Then, a small
larva hatches from each egg. After a few days,
the larva totally changes into a chrysalis. Later,
a butterfly comes out of it.

[Harmful or Helpful] Mosquitoes, roaches, and
fleas are harmful to humans. However, most

insects are good and helpful. Bees help us grow
food. Ladybugs eat aphids. Dragonflies eat
mosquitoes.
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c. XI7o} e d. Ligtant ofsy 1.b 2.2 3.d 4.c 5.1 6.
3. LS ofEt ERIS FiX3 ULIR? [b] Yoe clojz B2t 1Izke MeMe.
a L%HA‘I%%EEEjX—,OIALE i
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b. ISA2 A02 B BHIS JHX|D UgLic
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a.5d b. 2td 4. Bl B x+|= Eitol MES SUICL  [orbits]
;
c. X7 d. &4 5. 2 EA MY 127 sHYAS QsaelLIch
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[a]
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3. EE2 Y R H=E = SASYLICE [b]
4. 24511 342 QP BE BN NS IIRIT Yl
ct. [b]
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5. 2H QBYS2 Fol0ll 125 7IX|2 USUCE [havel

Organize & Summary

[ E20iM B2 YEE 0185101 LIS EE 2MBIMIS.
[Detail] The Inner Planets The inner planets
are closer to the sun. Mercury, Venus, Earth,
and Mars are the inner planets. They have rocky
surfaces. Earth is the only planet that has water
and oxygen.

[Detail] The Outer Planets The outer planets
are Jupiter, Saturn, Uranus, and Neptune. They
are made of gas. They are bigger than the inner
planets. Saturn is well-known for the beautiful
rings around it.
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SITHAIR SAt lie A

4. XF0l= Ul ZF| 71207t st [b]

5. AX|of HICIOME Y222 FIHN SIZFELIC [a]
Y2 TS S2 2YS AYSIMIR.
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afew + A 4 Ql=GAL a little + 4 4 Gl= TAL
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Organize & Summary

EZ0M B2 HEE 0|2510] [ £5 2MISIMIR.
[Region] Desert They are found close to the
equator.

[Region] Temperate They are found both north
and south of the equator.

[Region] Tropical They lie between the Tropic
of Cancer and the Tropic of Capricorn.
[Feature] Desert The weather is hot and dry all
year round.

[Feature] Temperate This region has four
seasons. The weather is not too cold or hot.
[Feature] Tropical It is rainy most of the year.
[xI2d] Bte7 |5

S EF Aol grAELc

[X|=] Alt7 1=

HT 7p7tojollA LAELICE

[Xlei] 24715

Mol S0 HE RROM LHAFLC

[x19] Ech7 1=

S3| Mt F3l M Mool AR UFLICE

£ gtz

= & E UL 0 S&LICH AX|o] HICoKE 2802

2 i
rooX
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=
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P
]
E
il

Zm
o!
rIo
o
_—
-|o|-

I’éOI '-IEP M= R EX= UR SXIE SELICh

we Jm
I'_'E 1]

LHLK HIN%LIEf.

UG CHO|Z HIZES A9 222 QofsiMIR.

conditions At freezing I £2 equator M=
dry ZAZx$t seasons ARE rainy HI7t 2=

7|Z= 2 7|20l ZX UEHt= el M| HEtS &
gLk it IE= S0 HF A0l 2L S|
sSEN=dd LH'—H & € XY E5UCL AR |I= XY
2 M= Ji710l0M HHAFUCH ARV X|H2 2 E LU
B AZFULL 2007 |1F= Mol 8F1 5F RF0M &
ZELICL 2017|2 Xoll= AAIEO| UELICE LMzt |R
HA= UR &A= $sLch SV X992 Sai7dat
27 Atojoil 2 UsLict B7|= X[Hoil= & LHL
HIZF S
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Science | UNIT 8

2254 | 22 FALTRY H2 SZO[ otgLICh 2 o SHlof A ofLX|ef of FHERLICE H2 Z2afet
20| OFF 22 ?:IX o Ye= SAYLCE 2Lt R2= | ARNE & += UsUCL RElE 2

=l

x|
R0 22| =2 eoll MY 0] SHE 2| LTt SEoM 0| MEtshE A
=]

O Ho| H2 HEa =22 2 Ifﬂl?:l'—llih EH°FC> X|:r"—| 7Ptr 20t Ao HMYULICE CHE ES Al H9 3

E a 01“‘* A §Oilk1 7FE HHRSLICE,

EolsiA | 1.2F 1 n. F0{2[0| SZtE RXISHE A 2.0fLX]
Ol EoiE B2 4.%|ct, BHS|Ct: v, X|CH E= FA

HH| F2 KoLt SOt EE0IRE A 7,740 AQIXIE

Comprehension Checkup

=
1. 222 F2 20 st 20tL? [c]
a. P27t ML RS 0l
b. sl 3= A=
c. 2o &5t o2{7 x| Ak
d. 227t SHE E= 0|R
2, 30| X720l =Eohk= Of Hokt Ze(Le? [d]
a.1x b. 8%
c. 12 d. 8=
3. XF0IM 2| 71 ZQ5t TS FAITIR? [c]
a. b. ¢
c. B d. =A
4, QIZHQI lo| M2 FAITIR? [b]
a. X7 b. B¢
c.d d. Ef
5. 42 OllLqx|2| ot HERILICY, [c]
gl

a. Jez HEo b. BiZfol ofs 2!
c. O SHofl BAE  d. Sofl Qs F74T

6. Hoj et AHO| O A2 A7 [d]
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| f 22 0 WELICH TS AHXHAH L2 BroREL
Sioli Hie s24I0] ZalX| SiaLIT) Wel A5E 21

242 71 7172 7R, ofluiRis ol SEE
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ES UL 7IAE ASAZlE & 8.&Zf 1 n, FA|
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E
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1. 7= 20| Qg Mol HHO| St ALICE  [artificiall
2. 42 ofix|e| St FEHOIX[2L EE2 OFHLICE. [matter]
3. IR JIE 7177 #HA Q2 o, olX|7t ol Fefz M

SAE 4 UELICH [turned on]

4, AHo=RH L2 U2 SH0| 2HE 4 USLICL
[strike]
5. SAH|0 BrAt=l= ol AX|7HRLICE [energy]
6. 2IS 27| =8 skl Al2ksiL|C), [bounces]

U= ETO EASIML.

=Z0ilM o] MEtsh= S BiARt: gfLch,
2. 2 22Kt 20| o 22 YUxte| ez S2Lct[al
3. CIE €S Al Hof HHYLCE [b]




4, TE RO Y2 oL [a]
A room2| SAt XI2[0|2 2 gets M|
5. 30| X|70] =Eoh= Cli= 82410l Z2IX| &L
[b]
7101 1t9] EIMt 0= to 2EA

ak
=x

rlo
L

of
RFe| 7k 5t Yol FRILICE  [the most]
Ch2 S0l SALE! oflLix|2] St HEfALICE,

[that]

i
H

2t EYS Ao,

m
o

Io

1. B
2. J7%

I'|O I

energyE 7127 |= 24 HAUEAS that A
3. EAR SN Yo MY 4 ELICE [bel
4, 4ol A= 220z 1 o™ X oA 7+ whELICt
[that]
5. 2= 2 ofH AF0A L2 Lol EHlo] FXs|n 2
2| =2 gofl Mkt mf SHIE 2 Fuct [when]
229 olo|4 AlZh EAFE FHEAR! when M4

Organize & Summary

[ E20iM B2 HEE 01835101 LIS HE 2MBIMIS.
[Details] Sources of Light A source of light
is an object that creates its own light. The sun
is the most important source of light for the
Earth. Some hot materials like hot burner can be
sources of light, too.

[Details] How Fast Light Is It only takes 8
minutes for sunlight to reach the Earth. The
speed of light is the fastest that anything can
move.,

T2 LHE] U2 Tt SHlofl ErALE ofLfx|ef B FHERILICE
[MIF: AFEH] 22171 ofEA| EHE ELIQ

Sz o MM LE2 Lol SHlo| 25|12 =2
s MEte mf SHIE EA EUCt

[MIE ALRH] el 2

o] AML Wg e SE 1 AHMIYLICH ERY

3
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= X2l 7t
Y S8 Hof #HL "—IEf L2 Bt 22 2R A2
S o] fHo| E 4 UELIC
(M5 AR W2 ot T2
0| |0l =Eohe dl= 8=5toil Zalx| HELIch 2o
== S20lE 3 o 2 SollM 71 ELICE,

>,OI

1

] Y3 tojz HIZIS X9 22 2o,
energy Ol4X| bounces off A2k5iCt source &
materials 2MIF reach ZEsICH fastest 71 tE

A2 THE SHO SARE oflfx]2] o FefLct 22k= o
%"‘*OHH Lt2 slof 2x{ol| £H5(1 22| =5 ol Mere o
SHE 2A guith o] FM2 Hs U= 22 1 XYY
Cf. B2 XIQl 71 SR8 Aol HHYUD =12 HY
of 2 RE IR SH= Kol FHM0| & 4~ USLICH AH
0] XIFH0il =2sh= dl= 820l Z2|X| YsUct Jol &£

= 220l 2 o™ 24 S0l 7HE S C
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Social Studies | UNIT 9
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S 5. Li2l 24 ofmal7} M0 s ARISS OfEA 74 =
o zUR? [c]
- EEE TR T B 3 el a. LI 212 2718 S0l HEsHEUC
2 OB RE R b. L 212 X7 w2 Zellict
” ?,iHlEjl 2']7'; '%; # . U 32 550 28 BB,
o Lot 2500 1% d. LI 212 AIA0iA 7FS 71 ZiLict
. Ui 22 daft 7te? [c] 6 e EE OEAIS Bel oz S2R
o1 1000 22Ol a. X b. Eug%t_
b. 1,000 AE|0[EfRILICE, o Al o B
c. 2/ 6,000 9'§DIE1°'LII:}
. L2l Ze o|RIE| 2018 DHEQILIR? [a] 2} Chofof] 252 20|E Slot HASIMIL.
a. Mafo| |23t F2 T 1.4 2.c 3.b 4.2 51 6
b. O|20|EQt AZITA
. X8l oo ElolS Bzt IZIS MM,
d. $ES =St 5t/ 2% / W= / 07| / HAZCH/ nrhel
. T} OFFES OofEA| Teh MAle) 7k 23t RiZ0| & 1. 0 HIS3t T AZ0IA 713 SehE! 20| wAsH= 2
ALR? [d] 2 7kt ssLIch [ancient]
a. IRf0|=S BiEo2 2. Li2l 22 20| SAfSHe mof OlEES| ARISIA &
b. HIZ3 S BE22M == ettt [trade]
c. 948 S35 So=M 3. Li2l 242 1f ORET} 74 223t NiB0| ElEE e



LIct, [empire]
4. 0| 3%t Z2 L Zojat E-Lct [mighty]
5. Lt Z2 AEX[cHofl HISSH E2 07|15 THEY Wi

LIk [valley]

6. HiDH ol UTE0| CHI|2H|EQF AHIAE CIEUS
Lict, [created]

[ GrammarFocus |

[ = 23h) ZAGIMIS.

1. LY Z2 MiAlA 7H 21 Zdu]ct [b]
Zdg Aoll= the 2

2. 0| HIZSH E2 MIAIA 718 2eE 2H0| LAisk= A
2 7tk Lt [a]
one of Foll= 24 + E48A

3. LI Z2 ota|7tE Sl XIBaH= E2Lict  [b]

4. LI Z0| it O XS0 OFRAE AobR| 231
2 ek, [b]
Nothing ~ without-- : -Gl ~2 ¢iCt

5. 0| =o| ARHE0| Lt *% ASICta ok 01RAULICH

That's why ~ : 12 ~&t 0|S0|Ct

(7] une ClojE 33t 2AS SIS,
35t7] 9fot 7Hs w2 412

é'ol%%l-llif. [quickest]

-k
-
ﬁ§
r|"6
H0
Ral
=2
>
(=
E

2. LI Zo| Ha ofxa|7t MAjol| i SR [for]

3. J72 L Zot O LY Z0| PHE0H oSS "o|E
Lick [created]

4. thuj2to|=et ALIAS M| QsiAs uinh Ho|
SR HRRMELIC [1t]
It took ~ to £HA}F: . ah= O ~7t HRUCHER3MCH

5. U Y= &

X 7t 2

r&"

Ao Qle 11ch OFE= T MiA(of
FARIZ0| ZIRAELICE  [most powerful]

Mg the most powerful

rol

powerful®| Z|

Organize & Summary

[ 220 B2 YEE 0185101 CIS EE 2MSIMIS.
[Effect1] This fertile land made one of the
oldest civilizations in the world possible.
[Effect2] It helped the ancient Egyptians in
trade. By trading along the Nile, ancient Egypt

became the most powerful empire in the ancient

world.
[21211] LI Z2 OIEE AMX|CHol| HISstr £E2 =S o

01M§|-|Ef

Q12] LI Z2 of=2|7HE Suisl XISsHZ S2fZLct.
[ ?_|3] LELIMR=E LY 2 05| sHo| 22 SSME
Lict,

[”"H] 0I t'I 3._ T2 MACIM 71 QetE 20| Lils

i

?

Fl'l:

[Z2z2] '-f %I'_HOI" | wHE =g LY
T MiAlIAM 7FE 2

(23] L Z2 B2 AES0 SE52 MAXIYLIC

(] or2 clof2 HIZIS A9 222 2245tH2.
fertile H|S$t possible 7k58t trade £
empire M= water & mighty S%st
AEES2 LI 40| O|HENN SHEH Zol2tn TRILICE Lt
U 42 O|ZE AlRIX|Hiof HIZotn FE2 F=2 UEHHE
LICE O] H|ZEH E2 A1|7=I|01IH 7t 2EfE 2Ho| Y

AZ 7tsoMl FELICH LY 42 ofze|7tE Satel
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N
2 SofZich L 22 Eot url 0|HERISY uHE =/
SO U = S8 uHoz 2l 1o o|FEE 1o M|
AollM 71 Z2fet M=0| SUSULE s LY 22
OIT5| S0l 22 SSeliELICL U 22 U2 AlES0t &
=52 MAXK|YLICE 0[2{3t 20| RS0l LY 25 ST

Ho|2tu &sk= olRYU
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Social Studies | UNIT 10

2l | Z2AQL 0|2 S IS SRELICL 022 1776500 S22 oZ2H =72 MeRiEL I 2
E%*A RS Al 2352| Yo2RE =S MAUYSLICL TPA= Ol=19] RS 7(Astd HUSH D =4
=2 X7 olilds AT YXtol| Hot 0|52 +&5IABLICE X2 7E YS2RH S8 MAs 5
Stot7| ¢let MESOIRSLICH K2l oild2 20t Matof| SHot= X2 AYLICE iRl 642 280 0f
4ol 5 giol= sEs S USLICL AE0l= HHS S1 SO O ol nl=0| Se Z2l 1776d 7
2 420] AAXN UsHCE A7l o2 72 0l M USLICE 1886 X Lt W2 AS0IH| 7= 0f2i=
XFRe| olild2 Oj=2 &Eol FUFUCE HIE Sah 0|22 S02E 0|TXE2 A2l Kilyel &Fs TU
sLO. 25E0l= B2 ARS0| i XtRo| Hilds YEELCH ARl oid2 Oi=0lM xR0 tiet S22t

ALt

EHOJ34] | 1. M0151C : v, BAKOR B SESITH 2. XK : n. FAKLI ST B.7Id5lCh: v, SR HMS s
M Of Sl 5712 22 sith 4.58) 1 n. T2 Liate] JOILt K20l XI9 5,54 : n. AL S22
LENHE 22t 6342 1n, 32 £02 SUsH= 9 7. 021Kk : n. Ko EHOILER| 52 Liztoll Bakstr| s 2 At

2 8.4 in ARJS LiEt= A

AHZISHA | the light of reason 0|42 2 the Roman goddess of freedom ZIti 20te| X2l 04l
copper 72|, 5 151 feet 2k 453m(ITIE= 2 0.3m)

Comprehension Checkup c. X d. 75 &570] QU= ARE

5. 17761301 O|=01 M= OfiH 20| UAULIL? [d]

=
a. XS0 GHAIALS HIOEA| Lt
1. B22 2 D00 Bt 2017127 [d] HIE ES
L 2ot iAo Aol et % b. XI90| OIAIARS ZAMSIALICY,
a. 77t 20| HL0[A=X|o| 2rst % _
N ~ * c. O|RIXISS BrALICE
b. TZIAQ} 0|20 ZXXIEQI 01S ]
d. 0j22 S22 MofaLIC)
c. XFR0| GiAINO| Q220] HES ST 9= 0|2
d. XF2.0] GHAIANO| 0| 020 AFEIO| EIQ=X 6. | XIS GHAIAO| CHZOIA| JHE! 0], 2
2 AEfs0| IR wEgaLc lc]
2. X190/ GIAO] Rish AKIQI 212 Bo0712?  [c]
X a. 1776\ b. 1780\
a. XF2.0| GIAIAS 0|BIXISO0| ZAMSHCH
c. 1886 d. 18904
b. XI.0] OIAIAFS 0|Z0llA ZAMEI9IC

c. AR M2 THAAM AU, X0 FHot
0jzoz Aageict Vocabulary Focus

d. XFRO| ofilef2 0I=0ilM ALY, HFo| Fot

[El

AR FBERIC,
1 2 3 4 5 6
RIRQl ojAiNe] 9220l BRS ST LIR? (bl
a. ¥ b. 2= ugte cloj Z2} HIzkg MM,
c. oAl d. 93 S/ XK/ 0IRIxt / M/ A / S
4. XI92| OIAIN0| ARISHe RS 2%i017IR? [c] 1. JUj9] 2220l ol4o| Y sl S=0| ULICL
a. 200 Y= MRS b. OJRIKIS [torch]

22



2. HIE Silf 0|ZCE S0RE O[2IXIER AR Kbl9
BIHS HoRALICt [Immigrants]

3. 17768 D|=QRI52 T2 Yo=HE SEg MRS
Ct. [declared]

4. AR il O0l=2| XRE MEFLICE  [symbol]
5. A= DIZ007 F=C2RE SEE Fotot| ol &
Zeg FUSLIC [independencel]

1o
6. DA 0| DT YO2EH XIFE AFSLICE
[liberty]

[ %= 230| ZABHL.

1. 022 17760 F=22| Fo2RH SRS MARIELICE

[a]

2. DA ARMES K19l oAS THE0] ARl Eot 0|2
oz %éél—lth [b]

3. = [Z0to] RS 7|5t MABLICE [a]

vvantgl SX0Z to YA MY

4. 220z U2 ARFS0| 11 Xt72| oilds el

ct. [b]
5. HiZ £5l| 0|222 S0{2E 0|TXIES X1F2| OjAIA9
SIAS ghEL|Ct [b]

[also]
2. %2 fE YEE5H =8 MAUZ Sdloh| {Igt
O|¥&LICt, [to celebrate]

3. 0|=20| S5t 01 1776 78 42°0| AWK UELICH

[is carved]
4. 1= 2220 0|49 YE siel= #ES S0 USL
ct. [that]

torch& 712|7l= 2 2AUHEA that A
5. 1886 XS A URZS0IA JHUE 042 XIRel o
A2 =2l HEo| =Rttt [Sincel

18869 EX AIM0| LI2E 2 since M

Organize & Summary

[ E=20iM 2 HEE 035101 LIS EE 2HAGIMI.
[Effect2] The French people built Ms. Liberty

and shipped it to the United States to celebrate
their independence from England.

[Effect3] Immigrants that went to the United
States by ship were greeted by the Statue of
Liberty.

[3el] ZAQL DIZ2 XIRE HJELIC

[3e2] Z&A= Dj=e| RFE 7|Astn AUSLIC
[R1213] X1R2] OHAIS =2 B0 A UBLICH

[ZaH] 023 YA Qe MSS 159 YorsE £

Ut KRS HOIRALICE
[Zm2] myA 2012 XK CAINS 3T Yok
Bl 10| S-S S5k61| 9 0102 445HHBLIC,
[233] e £ 01202 Sofek 0[RS KRl Ol
Aol siyg wosUr

[ gt chol2 HIZES i) 228 2o5IMIS.
liberty XIS friendship 28 celebrate &alsict
laws #F independence S& greeted &

0|23} mgAo Y RS2 150 YoRuE S
RRE MogtLIC DAL 0j2mol £ Jlofstn A
UL BYA 202 KR GAINS 78D Yo
2| 50| SY2 F5ek| s 1202 +asIHLIC
RiRol G2 AN H2S ST 9T, Y0l HHS S
T uIck 1 ol 0j=0] s Lol 776 78 4
Ol M4 QUSLICE TIRol O 552 B0 Af ULt
HE £l 0202 Sojok 0lBINS KRl oiAINe] &
B2 worsLIC
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Social Studies | UNIT 11

2264 | ofol=2f =2 0
Lt J= HSAtet FX[10| HRSLC 12|11 2
0=2 i 222 LIAMSUCL 852 KRt oiEs
== A7t §ES ofRUch 2=, o2t 23S0l 2l S

O; A
HIE

|=2| Aot ChEZYLICE 29| 7152 7137 (ol = 72| =t HsUc a2
Z=0l= 18600l tisE2= Ct. 2

AN
SNEIELIC B S AR
HA

o
Lot a2 BE2 SoH=S BSUCh =0l
TR0l LERSLICE HEHY SO 272 B2 gl

7t AOHE7 | Pl

SHELICE 01742 OI= AIRI0NA| Xt

Aokt X7t &

g ¢t tiSE S of Folatn ZE
o

=
£ 2of3t B2 xR B2

2 sUch 19 73t HE2 AEI=HT o2t =]ILCE O HE2 2

SBHX|ol| ChEt F2 HA0|USLICE 1863 12 1 A Lol sk MAHol| MF

FE AAMSUCEL Ol E3F =HSHA ARE F= ROIASLICE 1865 THO| EUHM L0H== HIX|=IR
gLt 22|10 & TF2 2= SL0| = '—IEP ME =2 22 0129 7

LICk OlR7F FAURUX| OMALER? O Ol=E 2E2RH X17|1 ARSI e

Lct,

chofshM | 1.5815t : a,

o He|, HAs 2ok

BT IS ChAlo]| AAZ ejoz B

SYA| 7.HX[SICE: v. SAKCZ BLALL

Comprehension Checkup

1. 222 F2 S| et 277 [b]

2, HE= T2 #LR? [c]
a. X\ b. tiSH
c. 0] .ol

3. ofo|=afl F72 tiSHO| =7 | Xof| £ HLR7?(al

=
a. Je= WSAIEUD, b. O *.HDH%OIQ*A%HE}

c. J= MUELICE  d. 3= 71 FRIoIQELCE
4. A & YT AHER2 FANIIR? [c]

a. =0 sl Mt b. 5=%Y

c. AE|=H1 e d. oI

5. 7E|ZHT HM2
Lo,

off THEH B2 A

a. T SOt 80} 5= %

b. OHIE=E HXISE7| Hlah a0k k= A

24

2,23 ad E0= 3.8 n
H 4.0HT  n OIS ARSE &9l 5.
HCH 8. KHZRISICH : v. St =71= ChA| ZElsict

YLUSICH: LA | ARSIt 6.25 1 n.

c. 0fl0]=2{3H0| OfEA| tHSZO0| =R=X]

d. 157} Aokt | 9laf HotLt K27} TRH|

6. OlM=s Ml HX|7E EUALR? [al
a. l0H== TO| LM TIX|7F =Y
b. LOIHE= THO| ARI=HA TXI7t ERASLIC
c. OlR== ofoj=2f3l ”Zo] ZoHM WXt EIRtE
Lc
d. lLO0HIE= oflo]= it
e

Vocabulary Focus

Z} Chojoll %2 2|n|E S0t HEsIM2,

1. 2. 3. 4. 5.7 6.

SLCh

40| EfOILITA HX|7F =

1. S H5o| ZAS2 I8 Tl A7 |7} =(USLIC
[Conflicts]
2, 0|=Q E8 X|A2 X172t siHE HSLICH

[constitution]
3. O, 0j=9 &+ 2GR SY|

4. 18654, ¥

ALt [reunited]

0| ol w2t oixl=E HXISAUSLIC,




[abolished]

5. ofo[=afl A2 IR | 20| 79| F3toz SR
&LICh [seli-educated]

6. EHE MY Oix| LUMLIR? [break out]

. 9 7IE2 ZHRT I 2= 72 =52 S [b]
0 M

2. 12|u Z=, J= 1860 S EoOiI guUELCL  [b]
3. 0|A2 Ol= AZlol|A| RS AHE3MELICE [al
4. 7t 0j=2 2E2RH XZigUHOL [b]
5. = MES0IA K78 Roet sliES XIARSUC [al

Consiiuiong 712|7= 724 PAHEAL which M2

1. OMT= XFR7t 9SS QolFiLich [means]

2, Z=, 0[2{3 Z30]| 2fsh G=TIH0| LradtsLCt
[because of]

this conflict HAIZE QIOB 2 because of M)
3. 1865 0| ELIHAM oM == HIX|=RASLICE
[ended]
4 SAt abolished?t AX| LX|
a

=2 O
A2 QIRI} Hoig7| s FaiLt XR7t HREHK|

2

rok

| Chet &2 HH0IASLIC [to survive]
t

5, 0|22 Y 202 LIS [was]

Organize & Summary

[ E20iM B2 MEE 01835101 LIS EE 2MBIMIS.

[Effect1] The United States was divided into the

North and the South. The Civil War broke out.

[Effect2] Slavery was abolished as the war

ended in 1865. And two sides were finally

reunited.

[Effect3] People say Lincoln was one of the

greatest presidents of the United States.

[2eN] S22 xiRet siHS APSLICL J2iL HE2 0]
M= HRELICE

[J2M2] Y2 o she Mol MERSLICE
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Vocabulary Focus
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{7} / ol / Z7 [ttt/ 71 WAt / Cist / S
1. 2RI2 220N o Me[Hol2le MEES AINEUS
Lict, [tutor]
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& 5|25HK| LUSLICE [disabilities]
4. U= M 1874 o, E74Lt 2 4 e EIUELICE
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[university]
6. Q2 ARIOA M= HE TI2X|7| el RIS 20 =
=2 BsLct [poured]

gt Sixtof EAISIAIL.
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5. U2 22|74 =70t 5HX| LECtH B2 02 4= e
WS II=2MFERELICE [b]
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Organize & Summary

EZ0M B2 YEE 0|2510] [ £E 2MISIMIR.
[What happened2] Her parents hired a tutor
named Anne Sullivan.

[What happened3] Anne taught Helen how
to read and write by touching things. And she
taught Helen Braille.

[What happened4] Helen wrote a book called
The Frost King.

[What happened5] She gave speeches and
raised money for people who needed help.
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Vocabulary Focus
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1. 2, 3. 4. 5. 6.
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Organize & Summary

S20/M 2 YEE 018510] kg HE 2MISIML.
[Effect2] Only 50 people survived as the winter
dragged on.

[Effect3] The Pilgrims had enough food to eat
during the cold winter.

[Effect4] The Pilgrims decided to have a feast
to celebrate the harvest. And they invited them.
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1. 18400l AE 7S FEol| 0[2RIELICE  [peak]
2. 0|2 HFUEQ| O O|Fsl ZF ARIES 1 Fo| Xt
£2| Zol2tn FAZELIC [claimed]

3. Za|=L(ot %“L*OHH 0| YA USLICE
[discovered]
4. NEE2 HHEIE 6idlol7| Al OIRE &ES 0I83HE
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5. 0= M2 X2 42U 2H0|o{A 0|=2 259 U&7t
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[known]
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[discovered]

Organize & Summary

=200 2 Y2E 02310 LIS EE 252

[Effect2] Many conflicts occurred. So many of
the Native Americans, new settlers, and soldiers

died fighting each other.

[Effect3] Soon, many people arrived to seek
their fortunes. This migration became known as
the California Gold Rush.
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d. #7HEY m= 22 dUMe. 1.d 2.a 38.¢ 4.b 5.7 6.
3. Y oE2IE2 FHE & 4 VLT MIZE UIX] YLIR? [b] U2 THoIE St HIZIS AHMIL.

a. LIo|7H LR BELCt

b. LtoI7} LI OfZiLIct,
c. 2S ole A7t aisLct 1. A2I2 OS89 4 O L2 A2z 2S7| flsi M2 W
d. £0| 213} gigsLict, orgct el
2, A2 AL AHSES EF6k= Ei=2 ChaHoF SfLich
4. NAol= HopLt 2 L2t JqUe? [c] [treat]
a. QX! &t o] 27} b. 507 =7} 3. MZ2 ofz2e| 2ot ML L= EQLCH

. 2007} O|Ate] =7} d. 5007} O|&e| =7} [government]

32



[responsibility]
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[210] El= 22 glo] FAlof Liztof|

A
AZ o|o|gLct. [citizen]

1) ot Sxio) BASHIL.

1. U= RIS =718 O 47| £7| 2tE7] $18H 3
S| 772l0| QELICt [a]

2. MiZ0[2t AIEE0| 2710 L ERLIch [b]
moneyE 727 l= S84 HAHHA} that A

3. WZHEY = =25 UK o2, [a]

4. Z2 3000| == A2 229 229 SSH 11 ZR2
gLch [b]
SHAHngl= F012 4

5. Ol= 2|ttt ozie] SSHIE o st ZsH

OHECH= 2oj Lt [a]

(5] gg2 CholE Zat 232 s

1. ZE LiZlole M2 O 2200] JELICE [country]

2. Z0I2 HE Fot0 MZES UHof BILIEL  [to obey]

3. ROECHE 42i20] £3f U= SSH HFEIS X7 M

=
2. [Most]
most of all : RAECHE

4. I MAHE Ssll 252 1Y H HES ARS MEts)
Of BfLCt, [choose]

5. CIE AIZI2 5%0|1 TIEsH CHstML. [Bel

Organize & Summary

[ E220M 2 HE2E 0|2510] LIS BE 2H5IMIL.
[Body1] Citizens have to obey the law and pay
taxes. Citizens have to choose the people who
will best represent them by voting.

[Body2] Do not throw trash on the street.
Instead, put it in trash cans. Obey traffic signals.
Be friendly and nice to others. Always treat

people with respect.

(=] Z2oliAl= RS 2715 o 47| E| 27| /gt
352 70| UELICE

[._ 11 =22 E2 &4t MZ2 ok gfLct 222

Soll 252 71 2 e Alis MEtsHof Lot

[E—.-_-Z] L27I1E 2720l H2|X| DR, T FRISO 2
Me. IEANSE X7 M. CHE ARE 23Ho|T ZI-sH|
tHSHMI2. ARSS AL SEsks O0F2S 7IRIMQ.
[ZE] 3SH12 722 X17IM2. 22i0| L2|Liztet SSH|

O QI 25 UE + USLICH

nx
X

o

0|'_I.

i

] Y32 o2 WIZIS J9 22S QUSIML.

rules &£ obey X|7|ct voting EHsH=E
trash M2|7| respect ZZ3IC} safer o Qs

A= RS2 =712 O 47| £ 2THS7| flet S8¢Y

20| UELICL 222 EE ZFot MZS Uof ok
ME2 R0l 26iM MSE= st =2, 12|10 o2 2R
ot AES flol ALt 222 MAHE Sal 2SS I E
CHES AMZS Etaof BiLICt M2|71S Z2(of H2|X] of
M.t SRS 2oMQ. uSHSE X7 ML, THE Al
= F3H0(1 ESH tsthR. MEEE eElLt SEste
022 7ML, SSH2 #2IE X7 |M2. J20] 22(U2t

o {22l SSHIE O ATSIT ZH5H| US 4 AsHC

2
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Social Studies | UNIT 16

224 | S22 A2 S0 7H S8 BRYULICE Mol Reut= Ha| =9 A= 12|t 280 UsL
Ch o] BE2 Ag M U2H ARELCL 71552 S8 MY AME &L O52 122 ZdES fleli X4
AlMfol] o] ga% DRIBILICL A X 8 XPY, ARISS 23t 328 Hol S 0] #IE Xt o HS Lt
M st MER o |2 etEske AYULCH OS2 ESF 252 HE2l=0| 0 E=1— 4y 2A27t gLct 4
o= 351‘94 2E X|oitt 2 FHE SLICHL MHE2 71 8 AR RS 25 41 H2lolM £ SLICH F2M2
RS Y2 010|S0| 1 &2 M EAKRILICL 2= 7F0lM= 0IES0| XS0/ F2 SF0il =2 20iM FU
Ch. Z2US2 F2M0| #2S 7IMCIEC T TELCHL 522 492 85 SHIZ 20| ELch 7ol =M ARS2
IS & S0 S2 TS0 ot =5LUCh A Sxil= 25 St ALELCE MEHE2 210 FHE 720] 22U
1 20| AAEl= RS FoliLict J2iM =2 g2 EH(E Sx)02in: LRSI
THOISHA | 1.5 1 n 4] EE HES 67| YA U 4T ARIS L= A 2.0129] 1o TS 049 314
n. =010| Qaf7} Bl AR 4.E{malrt : Zeb5iA| siCt 5.25 1 n, F0|2 FHS0ZI S 87|2 Qlofl= 3iot0] S0{9/T
Fx2 Malgle A 6,94 1 n, 9122 si7ILt HE miEjof 77| Qs U= R 7,85 1 n BALL %2 T20jS He
5t 27| 8.2 1n. X 20l o Aol Loid 4 U= %
c 2I=EO Kz Ho HEN £ =117
Comprehension Checkup 6. 9 AIISS XISl B2 250 £2 2ol FLIe?
[a]
1 gte gg naMe a. 52012 BOMo| #2 JIMCIECT 27| tho)
1. 222 72 Do Bt 207197 [a] b. =US H2MOI =22 7“‘4 CH 27] oo
2. £20| Mt b. ¥I= =5 c. 32012 F2M0| S 7HMCHECHT 27| mZo]|
c. B2 XSS dE2eEE)ES d. S22 F2M0| ZYS 7HHCEC L 27| w2
2, Mg onp S0t Zafeie? [b]
a. 2lxol ot b, & Zo| Zof Vocabulary Focus
c. B S d. £ &S 2} ool ¢t2 ojnlS 3o B
3. ARYSS Mot Hd ol 2UE SILR? [c] 1.7 2.2 3.¢ 4c 54 6
a. ARS2 2o ZLC
s Bl g ol Clof2 Zah HIZES MR
b. ARISS 22 gLt
c. NRISC 228 FERLL, ol Futo| / BES / Halct / oA / £ / Buich
=0 HOAM HXtoZ ZHx| OlA| | _
d. Al’nan_ g ﬂoi x'l:l == | |' 1. 2,;3—112' %‘“ér% ﬁ% ;X'"E _-,10' ,_,,LlEl_ [ends]
4. =3 M2 Dojozg A QLIQ? [d] 2. OS2 L8 ot 2 42|18 W= o 25 By,
2. =X b. 512 [set off]
o 25 4 &% 3. Mool N-SS 7[CiRt 8 OMS RIfISLICE
[costumes]
5. ARISS 21 F5E 7120/ 2L g 4. 3=0| Mde ZT0IM 7k 2 FUALICE,  [holiday]
SotgLict [d] 5. XSS HR2LE £2 S0 27 £2 gL
a. 24 g Y [envelopes]
b. Aot 3 6. 33 ARISS J2/2 ZHSS 9ol MY Al Heol
c. & T2 AS0l AMER= A X2l ofEhc [extral]

d. ZO| A== A
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. BT AMHE2 22 2SS floll MY AlEll 29

S
Xf2|E ofgict, [a]
2. ANHE2 71 8 XIZ9 R 25 1 H2loiM &2 &4
ct. [a]
3. M Exl= 25 S0t AlS Lt [b]
4. 1M B2 M2 2H(E FA)ol2inE RS
ct. [a]
5. £=o| M2 A5 &2 20| HLct [b]

(@)
e

22 oIS S2t EYS A2,

1. 152 8t 222 ejwale § of 232 BY 2aept

| [which]
firecrackersZ 7i2|7|= =2z A UHAL whichZ}
Mol

2. QIS F2M0| 2S 7MMCECD LELC

[that]

S|
3. O{250| XS0 F2 850 =2 €0of ELC [to]
4. F2MO| RS U2 00I50| 1 &2 EH EANLICL
[watching]
enjoy?] SMHZ SHAH-ing) A
5. RS2 7|17l 780| BLn 80| AlEEl= HE Fot

gct [beginning]

Organize & Summary

[ E20iM B2 MEE 01835101 LIS HE 2ABIMIS.
[Body] On New Year’s Eve people open their
doors and windows to let the old year out
and welcome the New Year. They also set off
firecrackers.

[Body] On New Year’s Day adults give money
in red envelopes to their children. People hang
lanterns on their front doors.

[Ee] =9 42 F0M 71 28 HEULICH

[22] Mall Ht

JIEE2 240 MY ANE BiLICH X0 ARSE2 R Y
HE LP st ME2 ¥ B2 etdstzn 2t F=22 20|

sLCHL OS2 F5t 252 HEYLD

MEE2 71 8 Xl 22 23 1 72loiM F2 SUC
7FH0IME OIES0] AESUIAl F2 SF0l =2 2

N
HARFE2 AMIS2 E R0l S

31|

r
I

!
re

Pl
< Y rin
r
im
T
k=)
il

in
ng
i=

5

)
T
inl

[
i}
>
Ic}
I
|0
N
T
P
o

R 7430] B4 Z0| A= A

1o
L]
ol
]
il
i}

(] gt chol2 HIZS i 228 2o5IMIS.

holiday §%, H& welcome &5ict
firecrackers 2% dragon & envelopes 255
ending &

=9 442 SI0IM 71 Qs BYUULL TIES2 S
et M4 AINE SiLich A Je g AP, ARSE2 R Y

(==}
WS Ll 5k W22 o B Sistein 21t 39S

Z01
Egltt OS2 Eot 52 HEYUO Mot Hg AE2
71 8 Ao 22 HF Yu 72lolM F2 SUC 0ESO|
XEASOH F2 S50l == '20IM SLICHL 20| = ARE
2 RS2 0| SS US0] 2oF sELCE ARS2

2l

21 SR 20| EL2 0| AREl= XS Sttt

o

35



Language Arts | UNIT 17

"é*Oil O gefol2ta
AUS =okE AlEo| 2
f Ef HHloll =2 7=

FEHM DAL} ot £5
HE =2 I—HJ'IJ(I Ope SHO| MAER} 2S0X|=
Lict, ok o[ ARE 7S UAS W, & HAML
= MAES 2S0ILHY| ARRELICE 9 MU=
E[Ct= XS L7 EUEUC £0] TiAE} BtE= 2t
Lc, A7 mAELZ S2ERSLICE 8] AL As R
ok MERZF M=ASLICE DHE 4SS HRSUCE B ML= M
MaHHA ZRSLICE "HI7t 2HE TIAES S Hof X2

=

L7} ARtELIC

FAMLIRH=

|Ct. L=
X}

=2 ™
=

U= Ofgel o
Z717+ Lol A| 2
“F0{2}, 2042t L2

ﬂ —
==
R HAS|

Sh
=
=
e =
=

o
Ct. &
ol
4

f|.||ﬂl |:| IIﬂ

SH
AN
TOo= ;\E =]
St ete 2NN g Ne)
OI_ g5 MH |- = ==

A ot | Lfsh ol Al
*317M1 ot
SLict 2Lt g

A

= O

=B

H=
Oz
b

m
=

l=
7 |t &
7.

mjo = HI})

H
=)

)

=l 5

=

AR ES

rir

>

i,
=
ShH
=0 =

o r|o igal

ML

o= o
ML- O

EtofaiA | 1.2 1 n. ‘S—E—OILh Ofg &=20|Lt Z0| S0

2oc}, HAIC g

22 2,52
3.20|ct: v, Q2[6ICH 4.8208 F07H 7= Ca. O1R
7Lt 2t sict 6. EXICH: v. SEALE HX S2Ct 7. 002610t : v. 21|, FEIsH

= 218 HELL 8M5I0IFCL

=3
— A=

S0
=

sl o=

HeXIAY DIAEIR 7}

SiHo| 222 HhEaHA

[oiLICk OhA o
feXl BREUL, o= Sole

n TEIHOR 80} sH= A4
0150| E2l= 5.8=3IC @ v, ChAl 25t
FE[SICH 8. 8AfICt : v, HIESt

= A |
= T

ALt 2Lt
8l ML= Of
Q=HHH|op”
Hl O

| HA-||_

B

L Lk
=

=
[}

MELC
F|AGH= 7S &
MQLIEP
| ML= B7F A6k &
22 DR YR

£l
2l
—

O| mAELT}

=

.I
0c ;°="
= omy T

Ja}

A
TS ot 2

E R
= =

(e
=

mun

St
B

2hm LIC [d]
Jha wge gg naMe, a. 222 x|2i2}
1. 222 72 20| 28 SeiR? [b] b 7128 & H CtISolet
a. OFHO| TAE} b. OfeHo| & c. MAELS & O RS0zt
c. ool =2 d. Ofo| SoiL d. 7} BIE DHAEIS 2 2] 292t
2. mAIPFEXEES of 8 HML0IAE R& Lo| UULL 6. J2{Lt @2HE[X| o} &l HALI= =
27 [d] 22 Lol E%aLch [d]
a. = THAEKS OfA| Bi=x] okaC, a. 27 gt b. &7} SloRict
b. = MAEIS HEH| sl WS YA, c. E7HRIS0ILT QI d. B} AZisiA| AREIUCH
c. = THAERS OB SH=x| SataLch
d. T TACIS B S Ui SR
3. &2 PR VIS A7 [al 24 iojoll 224 oj0|S Ao} HHFHHIL,
a. HSXAR IIAEL b, HSEAR 2
o HSIAT SO d, 30} 7l Epokl 1.b 2.d 3.2 4.c 5.7 6.
4. 20| TIAEIS BISOjL= %S B3| 317] SIsHA ofd Y2 HOiS T US HeMe.
T2 29I HLIR? [a] HHEHC} / 2O / RS2t / Of L) T/
a. OIS 2of Al B FIASSLIC 07} 7l / 2ol U=
b DI RIS 201 22VIS SHSHH, 1. 8] MAILIS DR S0l BAS ohBALICH
c. Oid &2 2of Al H 7122 2L —
d. Of E8i2 TAE} 20] 222 HYSLICH _
2. 5] OALIS OfLd BiElo] Z2S gL
[repeated]

36




«
[
o
gk
£
=}
IE
10
Mo
)
/o
e
min
> -|>

URELICt [potions]
Ef Sf HHHIE 20|12 Q!

»
o
m
ok
02 o
rlo rlo
H
o
i
o
T
e
x
_El
I

AL [brewing]

5. HSEAH MAED} HHIE 715 MIFSLICH
[Tempting]

6. 04 Ol HH|= TAEE HAXNEFISLICE

[overflowed]

o= 20| ZASIMIL.
L= “Eoj2t 202t Lol TAED H7I &HH|
Of" 2f S S2HA MAE} B £2 BUSLICE [b]

while o 21t 22 F0{2! she was H2fe2 Bixf

-
-
[l

EAF e MY
2. gl ML= £22 BN OHe 2ol FES HIE3Y
&LICh [b]
3. £0| DAE} BtEE 28 HEX| AUELICL [a]
stop?] SHNHZ SHAH-ing) E= to SHAF 4
4. gl HMLI= BME T3ELICH [a]
5. 8] ALz 0L 2%S B st=X| SRELIC [b]
how + to 2-A} : ~ol= i
[ ggte chols 32t 232 Hshie.
1. 2 T HHPL IAERR S2{ERtEUC [flowing]
2. Z, HH|7t TIAEHS CHESO0{LET| ARREELICEH
[to produce]
3. OHd Z™Ho| TAED} BEE0iXl= A2 EE| ot7| flsh
ol Ml 7|AZRSLICE [stop]

NSASA makes S4524 Ho{2 sAF #g 4
4. 0pd YO HHl= TIAER HMERSLICE
[overflowed]
5. 8l ML= B Mo HRERChE A2 L =

UFLICE [was]

Organize & Summary

[ 220 B2 YEE 0185101 [IS EE 2MSIMI.

[Middle] But Big Anthony could not see
Grandma Witch blowing the pot kisses to make
it stop producing pasta. When Grandma Witch
went out, Big Anthony repeated Grandma Witch’s
spell. Soon, pasta was flowing throughout the

entire house. Big Anthony did not know how to
stop it.

[X2] 8] ML= Ferd
kL

[E2H 8 HAMLi= ohe o] mhAE HH[o) 22 H= A
= EUSLICL 2 &2 HSEAY MARR 715 MSLCH
Tzt 8 ML= Opy 2ol TAED BES0iX|= 2
| 3t7| sl ol Al H 7|ASkE RS EX| ZISLICE
Ot 2ol Sofl LIZS m, B ML= OfF el 2E2
HHERUELICE 2 & TAPE IAERR 22 ERELICH J8iL
8] ML= 1A NS B3 SheX| SRELICE

(2] 14= 432 “.‘:*%él—llif ohd 282 35 EEMsIA

X|2h 7} 2hHE TAELS S 3o X2t JELCt

o

27| HaiA oHe oA

ﬂlIO
02

Io

L

olate
™

rn

012 HIZkS 79| 2RSS QUASIML.
chores Zotd gpell &2 tempting HSZIAH
producing MHEOXl= repeated HH=EEHC}

fuss AS
g MALE ZotE =oIFT| shA oty EHOAH 2L
Cf. gl QHAJL|= OHe EHO| TAEL HH|o| FE2 He A2
HOMELDE 2 &2 HBZAH AEIR JI5 FELICL O
2iL} 8l QHA{L|= Die SfHO| TAED} PEE0Xl= XS BHE
Al 5t7] 2feh o Ml 7|ASH= XS BX| RISLICE of
L4 ol ghofl LIS [, 8! ALz Ot SHe| £22 dt
SE3i5LIcH 2 & MUt IHAEIR EERELICE J2Lt 4

2

MU= 087 a%s BHA sh=X| xtstd Jds 4
S HRELICL Dhd 2E2 35 ML a7t e
A

IAELS S HO| X|P2tu AFLCE

=]
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Language Arts | UNIT 18

264 | OFF 22, Z20E|RA2K= 019 Alo] HUsUCE 12| XY2 == T
EEHIEH—?— E 21zt AS0f Ju QZofA MeAS| 22 FUEULE 22 2
SLOL Q2 E2 Q2|8 & 4 AT RIS AT XIZ 4 AMSUCE 2172 = =t
Lct, jEHIEﬂ AE QIZIS U1 ZO0[BIAT 2ZHolA| ozt 2tets 7IEREUCL SEEA Mol M HeA=
0] 2Zts d=stn Z2siH| 2SUCHE AS LUSUICE MPAE 17H0] MY Zahx|L X[H2HE X0j2kn
AUt 22 Heas ZAM 25 MAUSLICE 2 22 LIHX| 0fF KoM B ZItSLICt
I2HEHRAE £ A0 =E2HFAD X1I A0 2] X2 ZFERSLIC 8L MeA=s 2R 528 i
RUSLICEL 22N Z2HE|RA= HRAQ| HIlOIM 22 SHIE SXELICL A2 7Y 71240l HSE =222
=7 Z2MHHRAE =7 212101 SORSUCE HRAE AHSUCE J= 22| EolM 3 EleE= =
= EUELICL MRA=E Z2HEHRAT XZI0IAM 25 SMUCE XS LUSHCL HRAE Z2HEHRATL
et UES LG A 8 Holl AMER S0 = S WRSUCL

H 2
=

Ir

Pl

S

9

>

C

]

[

u

AMZIEHA | Prometheus statue at the Rockefeller center £Z2{ ME0] QU= ZEHEHRA Kz
Prometheus by Theodoor Rombouts H2EZ EEX9| T2MH|EHRA

Comprehension Checkup HAER 50| B= FLS RS [a]

a. 322 *%(HLHEE

71 eate et2 nEgQ b. QIZI0A 25 == F=5
o SHEFIT 215 SECE
1. 222 F2 20 23t 321R? [a] o 250 2 BT A6
Qs TES L2
a. 2IZ10] fZA| 2 ¢ =L d. S 2SS =TI=
e} [og}
b- CIZi0] of2A] 210 =Rt 6. DEUERAS HPAT} 1Zi0f| 22 sisaiFal six
C. ()Lllj_|‘0| O'I%‘}” QFEH;S\LI' OJX} _?_9\.'; ?ﬂ |'_xo_|_? [d]
d. 21zto] ofgH #hE Al EIRLE o, DEHESAL 24510 X2 HALIE
oAL 2 A2 S| BHE2 81
2. Q7I2 22 JIX|1 2AE FLIR? [c] b. Z2MHRA= £0| O RIS MSH SIS S
a. Q712 7|3 B 4 UBLICE Het
o = 2 Al S Ao DojAa
b. 017k XIAIS AAZ 0} Z0F3t £ UALICH c. ZZHEIRAE T XIS A & Hol| AMER FAS
c. Q1742 Q2T XHAIG OFHBHA| KIZ 4 UASLIC Hot
iT O AL O A0 = SxAA
d. QIS AT XIS I BIERHSLIC d. Z2OEIPAS MPA0] HHOIA S2 SILIE SHE
Lict,
3. 20| Q70| 412 OfEH USAUR? [b]
a. Bfetn @=apl b, D B=sH S DU Se
c. 51 o157 d. o5k Of
Z} CK o2 o|n|E %0 SHIMIL.
4. E_%D‘"E‘"—?—é‘: |=|-r-ro 0‘|E.|Oﬂ ijLI_R? [C] = |_0‘|0'“ éx I IE = I' °|' I
a. HQAS HM| b, SHUEA Hof f.c 2.6 3.5 4¢ 571 6
c. Al20| 7120 O d. At 3t
MZo| 712t o 2o e Ho[s B2l TS SN

5. HRAE Z2MHEHRAT}

rz
ro
e
=)
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%8l / 20| 1 / BYCt/ B/
B0l B / IS ottt

. Z2OERAE AEQ £0] 8 7RO HEE 222

SZIELC [hollow]

. Z2HHRAE Ao| $HF Mol AAEE FOHA H7IM
FHUES nSLUSLICE [suffered]

. ZEMHRAE QRIS iR S2510IA Q7tofA| of&t
ﬂfg*g =P ﬁ'—lEh [adored]
AT} QIZIOIAIM E2 WOk S, 217H Litsh M

M O1F S0AM LA U ﬁ |ct [shivered]
. MRAQ| Hil= 20| ZA0|AUSLICL [bolt]
. J10| §EE FAG| XISEUSLICE [eternity]

=] [ T [y o=
7| ASRACkE WS LU [b]
AE9] 7 HHI -_r‘%*oil St 225 57 Z2HHRAS

A
=
while F0i| &1t 252 0121 he was Moz Six|

A} BEf 12

. JE ZZHERATF X IAM 22 EXCE A ¢
U [b]

. O Z20ERA7 et 1SS LA Ao 8 Hol
HAEE R0l == gEs RS [b]
Y2 TS SE EYS AYSIMIR.

. AEQ 7Y VIRl HSe 222 &7 Z2HEHAE
T2 Qztol A S0k EELICt, [hidden]

. ZEMHEHRAE £25 AT =HSSHFAT HRA0H
042 x| ZHERHELICE [to return]

ask + FEO(ME) + to BZAF: ~0f7 ~afetr 2F

aict

. HRA= Q70| 21X ZahXIn XIS2E Zolztn A
I

FIELICH [might]
19| X2 S22 S0 L A0 IUSLICE
[to createl]
. = 72 LICKHX| T O1F £0i|lA GA| =UELICE
[shivered]

Organize & Summary

220N B2 HEE 0|8s10] LIS 25 2R
[Effect2] So Zeus took fire away from man.
[Effect3] So Prometheus stole a spark from
Zeus’ own lightning bolt and gave it to man.,
[Effect4] He ordered Prometheus to be chained
to the side of a mountain to suffer there for
eternity.
(3] Z20HRA= 217HE BHE0] [ 1 ZHiA X<
A9l 22 FUHLICL
[#e2] MeA= Q17to] MY ZaliX|L X[HZHE Aozt
T 2SI,
[#23] Z2MEHIRA= S22 QIZIA ESFRIT ML
A of2f xf2| ZFEISLICE J2iLt MifA= Z2F S22 i

EUSLICE

[BoU] MifAE ZROEHIRATL X |IAN 28 ST
XE LeAsUC

[ZzH] eiZk2 22 Q2|5 & 4 AU RIS LHSIH K|
Z o AU

[Zz12] JeiM HeAs QI 2 WAL
(o] J2M Z2HEHRA= HRAL| HIHOIM 22 SiLt

SR Aol FUELICE,
.

] HeAE ZRHEHRATL FHet DS LIIAE &

ooy U

Z2HEHA= 2ZtE TS0 WL Q7oA HPAL
FAELCL Q72 22 QRIS o 4 UL RIS ATSH|
X2 & AUFHCE MeA= A17H0| XY ZelX|T X[z

4

HE Aol2tn AT M MRAE TN =
OIUELICE Z2HERA= £2 QZH0IA =IZ2FAL

HPA0A o2 xig| ZFE¥EUC 2L A= 22 S

o ofX| LUSUCEL JUHM Z2HERAE HRAQ| HIK

oM 22 slUE 3T A7l FASUICE HRA=E X2

HEIRAZE XZIIAIM 25 EMUCE AS L2 %I—IE} H

PAE Z2HEHRAV} FHe DS LUIAZ o & Holl 4

MEZ R0 5= FES URSU

r_°£
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22sid | H g, MHE2 KA YIS a2t 352 #8 A 4 AMSUCL XS0 =
=5 M AIF2 3T A HO| = 00| Ut FLICH I 2[10| AFES X17(|2] HHoZ MEtsHof 3
Tt AIS2 AEES0| 2ot B2 ASS ASRIEX] & 271 SiRtELIch O Falet 2 oRlo] & f
Off AS et Df2ME HEEH | AIRRISLUCE IHE £712F 7 712 MRS = DI2IE MItsLtL 2 24= A

ﬁ 71 $lail B JHel 712t B 7H2| wri2to] HRUSLICL S= ARE2 SUO0IE 01831 AI
= AlS et 0f2], 20| F 7= AKS & ORIRSLCL J3U OS2 2 ASE MI7| 2l U7
Z=Y0ISS =010F YBLIT J2M SHOIE ALEsh= Uit OS2 HE ASshM +8 M7 ARRE
o] S IAUSLICE i A0l A Stt= AlS of 0f2], A 7 7= Aks =+ 0i2IE 2o[3sLch 219 AF-”.E: H
Slofl 7He B2 M TR MSROIRELICE 25 RE= 1, 2 E= 270 22 RAE ARZEILICE 0] RAR= 1ty
Q0| +oIXIS0 ofs HUSLICEL RAKE Ol2HH[012] 2SS Sall RELZ TSHRSLITL RXIE Of2H|of
A2 2= 0|77} 0] HELIct

;olv
r[l|_> 6’5
o5

A g

o

;OII T Jl'U
un - &2 II|> > o

inl
ruH1
0=
0 2 M
(e][]
r|0 o C mw

L
i
L_I

OII

EHO3HA] | 1.MICH : v, RAILE U2 ZToltt 2,481t n. el Hohs Al 3.8AI! 04X} n, 2 2t0f| Al= 04k}
t d. OfFH

4,950}y, BN Holot e MEBICt HRsitt 5.CHA0 : a 740 Xj2|of, E= thotoz N 6.8 K12
n. Of EFHO| ' 7H= K12 E= MK 7,261 v, ZES SoiM ASsITH 8,401 1 n 2HZ AL ZoiL, B2
WESH= AR
Comprehension Checkup c. A5l 8 Al A5 | ol
d. ARIST}H 2742 HaH5t7| SaH
7Rt elate et nEM|Q. i
e Bs gE asA 6. S2 AHSS of 2 42 M7| ARBILIR? [b]
|=fe) ni%s
1- %T'__n_ ZISE '?‘9\10'” _|'_|'|_|. :Ell.lljluo-l-'? [d] a. %g_ OLIO| LI:,I|-E|_12 )\l_E—ﬂéHOF onl [[H"_O“
ES AS M= HiEH
a. OfEMHIOFRRE b M2 M= b, S2 A0 2t AiR2 (W) Sish LIS B2 Zo|
. Qlzo| 431 L RXIZ M= S co )
o SEATE A ANS A S 2 otot 5171 Wil
2, LIt A2 MS02 MULIR? [b] KR7EFE L2HSo| EUiXof 37| =0l
a. ==20! b. £2 o0l . TAIE Of2H|of RAI2 E717| 2o
c. Of2tHlof A0l d. 234z}
i Vocabulary Focus
3. A U 22 M AR AlRO| 22 M| Qs 2AS
He? [a] 2} Elojoll 232 ol0jE ot HFSMR
L XS 22 M AR A pNi=1- PN
a. S 22 M A2 ABES ASHELIC b e B4 4 Be 6
b. HS 45 M AR S ASRALIC
¢ MS 2 M AIE Of2fHIOF RAIS MBS, Yste ElofE Fat wizig MR,
d. MS 45 M ARS &7120t wrIRtS ALRYSLIC
LAl / 23l KIZES / RIS Mt/ 231RIS /
4. 52 ARIS2 i Yo PAES PISALIR? [c] sietel / 52 ofol
a. A b. X
: o 1. QIZ9| ABXSS Q5L 227t ARSI= RXIS BISY
c. NS d. 2712tm} eje
&Lct, [mathematicians]
5. T S2 oI of JHo| A7t 2. 52 0012 AIRO| 22 M| SUsH KtAlQ] A712tnt et
wizo| LRI [c] =S AgREUH, [count]
2. LEHS 27| 93 3. S=QUS2 ol F8! XA=S2 EHBLICh [scratches]
b, 22 7| s 4. 1,2, J2|1 271t Z2 2XIE2 1 ARE| Qsh Le
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C|QSLIC, [developed]
5. &2 0{210] £712} siLiof| AlS 8t DR2IME HAGH| Al

ZSIEELICE [cavewoman]
6. SZRIS2 RAE M7| ol SUOIE AtEdl= CHAl|
HE AtESE7| ARRESLIC [instead]

o= 20| EAISIMIL.

1. 2 J4E= A S5 Mo AZsb7| Slsh & 7Hel &7kt
& Jhe| ert=to| HegHELICt [a]

2. Z[DO| MFE2 ] ol 71E B2 MS THE AIH0IU
SLch [b]
theZt ASEZ scratchesE 1 F= YA most
MO|

=l

3. 954 9al=1,2, T 271 22 2XIE ABELIC

[a]

4. KIS Of2HH|ot RARtD B2 0137t 0] tH2LLCE
[a]

cal AB: AE B2t 220t cal Ato B: AE B2 £

5. AIYSS AFES0| Zolt U2 A2 MR 4

7t AE U [b]

=2
=2
1. 23RIS0l 2B 74 PIF 42 M AR 38 1 Fo|
==

S=0|ACkT BiLICE [was]
2. JUe A0 MFES T2 HOZ MENsHOf &L
ct. [to choose]
3. J12iM SUOIE AtEst= Al I52 5 M7| SiaH b
£ ASZELICE [instead of]

using stones’t SHAI0|Z 2 x|At instead of 42

4. XXz Of2HH|0Le| ARISS Sall RESE MaRELICH
[were sent to]
5. JeiLf, 52 4 AES (7)) e 1T B2 sHoIs
2 =0l0F YL [too]

Organize & Summary

EZ0M 2 HEE 0|2510] [ £5 2MISIMIR.
[Why It Happened2] They put stones for each
deer. But they had to put too many stones. So
they started to make scratches on the bones.
[Why It Happened3] The numbers were

developed by ancient Indian mathematicians and
were sent to Europe by Arabic traders.

[22 2ol UETH] 52 0012 A7j2tt kel AISY
r

[22 20| UATI2] S ARYSS SHOIY WE IS5

[22 20| UATR] 25 D2/ OFHI0 RIS ASE

(2 I Yol Yojxt=7H] 2 KiRI2 E119|

7| RletiM £712F SiLtoll Aks Bt or2|¥s AZ3EU

(2 3 ol Loiik=T12] S= AR—ES2 2 AES (MI71) 2faH
EE”'OI% s a2 1—8 H7 &

[9H a °E'0I o ‘;}"7}3] e =t=Snli
olaf| HFME|T OfatH|ote] ARISS E5
Lict,

ofote cio| 2 HIZIS Y 222 Q05IMS.
numbers =, XS husband ZH
ct

matched HZZCH bones S

scratches 4E developed WHEl

H UL, ARFES KAV YsUC J2U 352 5 4
+ AUELILE = A2 2|19 MEEE AP(e| gHoz
MEHGHOF USLICEL S2 62 5 M7| flol &7kt &7t
22 MEELICL S2 022 2|1 AidEE MES| ¢
ol £712f SiLtoll Aks Bt Df2|is AZERSLICE S2 AR
S2 SYolet S MEHELICEL S= AR—S2 24 AES (Ml
7)) ot SHOISS SUBLICE 2L OS2 HR B2 =Y
0|52 =0fof JHSLICEL J2HM IS2 ol M= 27| AR
SO 258 P2|= 02HH|0F RAE MEFUCE I RAE
2 1t Q=0f SIAIS0l sl LT of2tH|0t2] eSS
Sofl REICE TeRELICE,
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Comprehension Checkup

42

. Of2[2= EXIE

r

o>

XY 02| SHAHJYELICL I= QAUXIE

e e é M7t 7t 22 2 222 FHOIUSLICE "2y 7HHTHol| QUIX|7H Lot SHU=X| Mo EAH2L”

T2 M7 R Of2| 20fA LRELICE "2 32 d-0| Hte) 0. -7, 72, Of, ZoHt MIA=X] &
ORI DfEIQ'.: FEARSLICE "Hott 3150 TZ M1
diX|7t HF gole.” of2|7t FEEAREUCE *aZ
2|07 SF HH0IE FASLICL 2 ST LUIXIE B

U= ALY HEE MZF SUSHCE “MoF E 2
SHY ML QAT HZE M7F EUELICE HEE M= Ot
THA B2 MEE M LIS "elf 20k St
E i MOIA Zzte] SFofl EUBLICEL = QK| M= ol 2

WELCL S, SFE MENM T, ulXl= o it AU, 02|27t ZSHELICE "THCHH QX T

3687HZITLE" A M7t ZRHSLICE “OEAH OZ Fets| OLIR?” Ol2|27t S2tH SHELIC B2 &X
o2 ot=ofal JaiT LI £
7h eSS “M7t 3671e] =22 MECL|, I QEIX|7} 360712t S20|ZHIR. 2|1 8/HS Cf5IH, Q&IX
3687HULICE” 02|27 LSHELICE “01F Fa[sh AlMHH

Mok g = M E JHE KoM it F3e=

ErOfaA] | 1.mefSict | 26| = HE0l thet E@E
ote Al 4.F2OCt @ v, RV ChsiA &
6. 27 1 n TX| & 7.7t LOILACt v, &

7FE gk g2 n2ML
222 F2 290 2t 227127 [b]
a. o242 = b. RS2 +E M= Y
c. Q&x| st Kol d. Qux|= Z 74217t

MEZ M= OR2|Q0fA RS FALR? [a]
a. 5 20| b. &0
c. 24 7 d. 2 7Ho| Qx|
0f2|2e= XS0 QUIXIS HEA MALIR? [a]
a. ot b. 5 7HM
c. Ml 7 d. Ul 7p
MEE M= 027t £8 M= A2 2d 20| RUS M
227 [d]

a. 0f2|2E BXIFELIC
b. Of2|2= o2 MUFLICE

c. Of2|2= /10| HU0|UELICY,

d. 0f2|2E 7+ Fafst AR0|USLIC,

E i Mot A el
a. 71E0f ZUSHCE

b. &xjofl 'ESELICH

SIOMACH 2. Bioheh : n, &3 7} HlOJS 3.8 n, 70N
25t 2@sict 5.040] : 2
SolE HESPA SHohict 8.2

pi

220| H JHQIX| MH =TT} AlmA

Oo—i—

n‘rsm

" Hzme M7 ERSLIC,

O—L

==0 | ZiZ}o| 2foil Hot =M A= A

n. o2 JHel S240] & |2l A

JHO| BFIH U H K| QEXZE gULR?  [a]
. SFE MEQM 11, QUX|= oF JH7t HUASLIC
. SFE ME0E i1, QEIX= oA JH7F BUASLIC
SFE A 70, QuIX|= & JHe "X SRS

SFEE o 7i, 2eX|= ofE JH7H 5_ASLICE,

p-pa'm

Vocabulary Focus

Z} Chojoll %2 2|n|E S0t HESIML,
2. 3. 4. 5. 6.

UG TS S HIZIS M2,

m
i

Lt/ 7HHt / F2{of /4ot =&l tjo| /
Hr2| / Aiktsh LHTE, OfsHstTt

1. AZE M= 0R2(00H S5 Bt HolE FUELCLpile]

O—1L
. B2 XXE M s B HE FOA siLte] FEo= ot
EMQ. [bundle]

. RS M= 0|27t F 70Ol QEX|7E HU=K] AlLtSH

LH7|E BMELICE [figure out]

. QXY 7HHTHol Bo| HolARSUICE  [stand]




5. Of2|2= 7t & JH2| QUIXIE MIU=X] HOHET| of

20| E2AHRSLICE [grumbled]
6. = 36872 aIX|7} URSLICH [total]

[ o= 23] ZASIMR.
1. “Of, oLt MU=X] LofHZU|I” [b]
2. MO} & QUX|} LT ot [b]
3. & QXIS & 71 MlofA Zizte| BEol| oL,
[a]
4. ‘12|10 87HE CfstH, QaIX|= 3687HLL|Ct” [a]
SHA 0= Hap SA LY

5. ‘Ui 71 26t Aol ELY [b]
(5] 2oie ciolE 2t 2 MM
1. AT& WL 7P| B2 o eroaid HoliaLct

[to closel]
2, “Of, HOLt MA=X| HofHR|!” [have]

A 45 Aot 0| 7] O0X|22 SixtRtiz

& have+pp el M

3. “JZ S M AL [counting]
SIHAZ TIHHE have been —ing YE) 42

4. ‘g 5= MEON T, QEIXl= oF iR

[are lefi]

5. "U2 XIE A Wiz, B JHE FOIM oiLie S22 ot

CEAe” [group]

Organize & Summary

[ E20iM B2 MEE 01835101 LIS EE 2MBIMIS.
[Effect2] There were numerous oranges to
count.

[Effect3] Mr. Simpson pinpointed that there
were 368 oranges.

[B21] =L WZ7H7HA —Er% 9t Hoz{H Fo|USLIC
[8el2] ofz|2= Hott M= %Oﬂﬂaﬁl-ltf

[2213] A M= Df20A 2 SFol 2UXIE & JHY
Stoatn t¥ELICE

[ZaH] A= M= Of2|20f7 ot 7HEholl Q&IX|7t Lot
Lt EU*=X] MO{22tD SRS,

o rdo

[Zz12] MoF g QUX|7} HF HUELIC
[ZaR] =2 M= 2UX|= 368712t Hatsh YUEH

ct.

] Yoo cio|2 WIZHS 39 222 Q0tsIMIS.

figure out AMSICH numerous B2

forgot AOIHZLCH pinpointed H&SIA Lopict
big @2 bundle £

L& WA 22 2 ES 1.1 Holtatot d=E M=
af2|0fA ok 7ol Q&X|7H Lot f:.*%tEXI Mlof=at
1 SIRBUICE 2Lt Mok & QX7 HF MksUCE ot
2|2= Eott MAEX| NoHZSHICE dEe MIE 4S5
off 2UXIE & MY Hoztu SIRASLICE SF= MERKN K
1, QuX|= ofF JH7t ot AUSLICE HEE M= QK|
= 36872t FelolA LRUASLICE B2 RXIE Mok &
= UX 8 HE FOoIM Sl FEez TS0zt 131 L
M F20] F HRIX| MH FECE MEE M7 R HE
Lot

=
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RewiewTest voooi

| |

1.f 2.d 3.a 4.c 5.b 6.e

1.receive 2.condenses 3.predators 4.temperature 5.source

6.equators

1.b 2.c 3.c 4.b 5.d

1.when 2.much 3.is 4.than 5.be found

| 2xl 344 |

44

Z} Thojof| 22 2|n|E ot HASIML.

. BSSICH - £ ORI A K| 22 QREHA

Sttt
EoICt - d. ofH AlHO|Lt =22E Ch=A| o

274Lt QIAlsic

. MAIR| - 2. AIBO|LHS20]| XIHARH Atm R}

=P
Ch EOIXICE ---- c. T MH{2|Ct
---- b. O ARO] Ao et Al LojLt

rlol

oM rr >
4
~

HCHRISHS ofi Z4o| LhEHS| BLict
271 300 4377 52 248

nge
e}
N
Jon
2
>
rir
H
1=
Rl

=Yt

- & AolollE 712 RE7F S

i

0] 22 UM Hictol gaeiL

P2 He 2X0IA K2t

0

e

A2 THofoll EAISH EYS AYSIML.

. H2|A0[Els Bl I=ACEEC O oFgiC,

a. Z2°5t b. MCHEOZ
c. 45t d. Hitf=2

dPODdR

£2 20| 2ol 8o THMELICE

a. ME b. 3, £50|S

c. &8 d 3

OFF 22 SHE2 37| 32 +57[28H S0
FLck

a. 225 b. 2=

c. 22 d. 7|1

HHLEU2 B Sot 20| HELC

a. 2 b. &5t

c. A2 d. of At

HHHE AMAR2 £ X[FE0H 2N of cAEL
a. 4,9 b. 0= XQ!

c. AH™o = d. B2

XFte| o7HHIE S| 22 HiTte| EHaRlLICt,
YA O[HS2 AZAHCIULCH WEXD O 25
Lct

U2 FR0| S22 UM AT 4 YaLict



RewiewTest voosoi

| &g
1.e 2.a 3.b 4.c 5.d 6.f
1.temperature 2.equator 3.Exotic 4.orbits 5.except 6. artificial
1.c 2.a 3.d 4.c 5.a

1.grow 2.have 3.that 4.are found 5.is called

| S8 A | 2. OfE SH|oj|A HHALEl= oflLiX]S WAL
2t Clojofl 2t QIniS Slof HZSIMI. a- Ollixl b. i, =5

1. X . OBt 712 22 BX . 2l d.71%

2. 37t El=---- a. SHE DIXIHL GHE VIR £ = 3. C}ot & ot = AZ0t0| Af2hof| A AofE 4= Q)

3. X2t b. AN Tojzl BE =u}

4. AY - c. EfLAOIN EfY F2IE == 2 HA| a. T2t b. HEALSICH

5. 3|Xsict---- d. ZO|Lt 7tRniE SAloz =t c. X|c} d. Aopr

6. XICh SSI5|CH - f. X|CH s RSRITIR 2P|

4. HZE 20f o= TS| THE 1X[=2 HEL O
a. S35t b. T}
t# d. O|F0{X Ict

olalo C| = I H|ZI=2 sH MI©
IR D0IS Fe RS AN, 5. Wo| 42 Sx0j= 1 o 2 ZojA T4 wiE

olZol/ 2 / Mz / 0|2Xel / LIk
Helstns / HEE S0t a. 2%l0|ct b. HEA}b
c. 7|9siCH d. CRIZR
o2t 7S Ato]e] 2EOA S5t 0|7+ UL
k.
_ olate Co|E Za} 2R 2AAMGINL
B HE ZHOI L2 2 gLict e SoiS Ee =s :‘:l e
=0 ey o) ey = 710
_ 71 AlzkS RHHisH= O E28 SLC
2 iR e 4 AL e el Ea S &
2. UK APIE 71501 ZX &L
oo B SAS Efele 1 aLict 22 A 710l EX Siaticy
i} . 3. EHQA|= EHQkT} EfQE =22 5|Xi5H= D= sHAJQ]
XITE HQIst 2E S Moio| eiLct AR B B 5912 2 ces
L|C|
FTL= 2o 01T HOI AFO| ofiLiCt I )
4. Ai7|BE mMe RN AT
5. SRO|M 20| MRS IS HARRFD SHLCt
atate clojoll EAllo] SRS MR S0 20| £1Ieh= 28 ElEka B
L siMEL oMoz = HHS JiX|m U 1
ZFololl= m2|7t SLICH
a. OiX| b. FUE
c. #H d. M|
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Rewiew Test vwrosi:

| |

1.d 2.a 3.b 4.f B.c 6.e

1.civilizations 2.symbol 3.deaf 4.abolished 5.self-educated
6. poured

1.a 2.d 3.c 4.a 5.b

1.without 2.to remember 3.has been 4.was divided 5.to write

| 25 514 | 2. 3 Hei= Xihlo| B Assls ol Mot 2
Zt Chojoll gt QoS Slof AZSIMIR, S0| == 22 of2I5HK] etaUn
1. Z9F - d. 3 JAL BA 5SS M AR a. 'tz b. ZE)S
2, JFHmAL - a. JHQITAL c. 7tset d. ot
3. MZEGICt - b. siLtel 712 CiA| ZEsict 3. X9 Ol @220)= 0142l Y HIXE dE
4. By £ Aol JENl HAIY 2|, YRS o] etk
Z28sl= ¥ a. O|S b. LHE|
5. HOfSiCt - c. BAKOR Lyt Wit . e d. 72
6. ST e HiEH B, vlE £ gEeE /T 4. U 72 T0) OfE AfRiSe] T =22 &
T AL BoiF= oBLct
a. 2% b. W2aict
Ugke clojS Zat HIZHg MeMIR, e e
2%/ SHICt/ A/ A7t B2 / WXl / S8t 5. FHErel =SAISO| HIlei0[ =2 ABIAS BS

® 39 4y
o>
Il
i

1. O HIZB G2 MAIM 7HY 2:4iE ZH0| L

24Ct St
=] 7_'2 = OHAL_ C _
otz A2 7tsoH |t c. 7l2XC} d. AOpHotCt

2. XIR0| GAINS 0 KR AFILIC
3. ¥ Ht e o =5t 7 T ERELIC,

oo CIE = _E'_XI‘EQA‘I; 9._
4. 1865\, 0] M FH0| ZLIPLY HXISIYEL] IRS D0iS Ze2t TS St
o 1. 2 XI0IM LI 20| SURCHE OFRZIE Alofuix|
: B5HS 7|0
5. ofo|=i2{3 S JitEy| H2o) tiEs S5t} RIS G )
oLl 2, DAL 0jZalo] 9HS J(ofslm AL
6. oo PO = M WS Jeiem auel A 3. SAC 18865 RIS Uttt HSASOA e o]
L =0 = = E
2 0/2019] AFEI0| EloaLich
o 22 St
- 4. Y7i0| YS! SOt 0122 Yt o2 LIS
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Re“’iew TeStWNlT 1316 - -

| |

1.b 2.c 3.a 4.f 5.d 6.e

1.practice 2.claimed 3.taxes 4.feast 5.responsibility 6.costumes

1.d 2.a 3.b 4.c 5.b

1.celebrated 2.who 3.known 4.Being 5.which

ELECY
2} clojol] YRS o0|S 5o HESMIR

1. Y- b, §A = HES sk YN 22
A1 ARIS U 2

2. At c. MLt 220] XlE2 Do 2cf

3. 029 - a. TG 7 oA

4. Elzalct - f. P Sict

5. 3ol d. ARSC] U0l B2 e X

6. THaict—- e. SH5H o= MBI

HuES2 RIS BuE M| lsiM Oi=
oz kgL

#1%010| o2 0 I¥6H8 AHES 1S RIS

AI'FJ%% AEQ O L2 a2 US7] oM Al
== LHOF ELct
HuES2 EE FO6IIA SHE BUSHCH

>
o
n
0
%
n
=)
N
fo
>
o
N
.Ll
=
>
-
o

ik
=
ot d. it

1840, M5 7iA2 EEof EUSLICE

a. 23 b. & (k= £2))
c. 1= d. olg, =%

OlIS2 A= &
HUFLICE

o= b. BES

02
i

a.

>~

c. 2= d. =HS

- ARE2 72| ofAS ffol DIRIE OIZRSLICE,

a. 235 b. AI2IS
c. H2lE d. &l

a Z& b. X[ AL
c. Z6t d. 2ot

HuES2 M22 oM 250| HoIH=E =9f
& ZMc0laZE AlFSS ZHUSLICH
ol2fet 01F= Z2[ZL|0F S=2{A2 XA &

AL

JS2 Y 2 A2t U E55 B,
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Re“’iew TeStWNlT 17-20 - -

| |

1.f 2.a 3.e 4.b 5.c 6.d

1.brewing 2.figure out 3.shivered 4.developed 5.mathematicians

6.begged
1.a 2.b 3.c 4.d 5.b

1.s0 2.throughout 3.burning 4.were developed 5.been

| 28| st |

48

Z} Thojof| 2542 2|n|E ot HASIML.

S=Y - 1. FAIMOZ 5o} sl= A4S US
OfUSICH---- a. ZdsHA|, Mt FEfsiCt
HESH= Bl -~ e. WIHO 5H &7

" - b. 20| gl Al

SERCE---- o HRNZ HOICH = MBSt ]
it

A - d. TR Y

-

Ofe 2 LS F2HAM DfAE oF &5 20

i

> b
= 30
> £
= O
-
o

= X7t Z JiLt HU¥=X| 02|27t
fOHN7|E B3RELIC

2 MIANA £2 tior7] 2 LiksiMA of
S0 A RS

, 2, J2|10 270t 22 RXIE2 TS| QJshM
AL

QIO £EIXIEE 25Y 27t A8ote XIS
= HSUSLICE

H

u]
3] ML= OHe S0 8ME FRELICE,

ne o

ro
N
(o]

r

_Lu_ln

A2 THofoll EAISH 2SS AYSIML.
ZzoERA=E A2Q 7 Zh2o HSet =2

a. (£0]) &l b. HHO|= EH7Y
c. 22 d. | &

Jd= ARle JEHez 19| Ardats ME5HoF

St

. Wt b. 2olct

c. Metsict o L2k

3= ZRuEISAT RN 22 EMZics
242 YL

a HE3 2t b. {5t

c. At o &2l

Mz s ofRloo| 25 TRniE FELC
a. £ Mt b. Jr2{o, o

o. 252 o 22 wst

UL OIS St 2YS AYsHMIL.

O 2ol
ZORI2|X| =S
=, & TH7E IAENE S2{ERSLIC

MAL o17to| Xlof| 20| &2 Ef= S HUS

o]

Lct,
0] RXIE2 1t Q= SRS 2l HS0iRE
Lct,

20t S2A0ILE IARSS ML UULIR?



